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Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
4. Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the oval as indicated below on the
correct response against each item.

® 6 @0

where (C) is the correct response.

(ii)

Example :

5. Your responses to the questionsare to be indicated in the OMR

Sheet kept inside the Paper | Booklet only. If you mark atany

place other than in the ovals in the Answer Sheet, it will not be

evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test OMR Answer Sheet to the invigilators

at the end of the examination compulsorily and must NOT

carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of OMR

Answer Sheet soon after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There is no negative marks for incorrect answers.
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13.
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GEOGRAPHY
Paper -1l

Note :

This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. Which one of the following currents is not

part of Atlantic ocean circulation ?
(A) Labrador
(B) Canaries
(C) Benguela

(D) Agulhas

2. Strait of Dover separates
(A) North and South New Zealand
(B) England and France
(C) Australia and Tasmania

(D) Africa and Malagasy

3. Wind blowing from different directions in

deserts, forms

(A) Barkhans

(B) Longitudinal sand-dunes
(C) Star-like sand-dunes

(D) Transverse sand-dunes

4. The sequential order of the landform is

(A) Plain, piedmont, mountain
(B) Plain, mountain, piedmont
(C) Piedmont, plain, mountain
(D)

D) Mountain, plain, piedmont

5. Which one of the technique is based
upon basic and non-basic concept ?
(A) Industrial location analysis
(B) Economic base analysis
(C) Regional multiplier analysis
(D)

D) Input and output analysis

6. First UN conference on environment and
development was held at

(A) New York (B) London
(C) Stockholm (D) Geneva

7. Who among the following was the first

Chairman of the Planning Commission ?
(A) Dr. Rajendra Prasad
(B) Pt. Jawahar Lal Nehru
(C) Sardar Vallabhbhai Patel
(D)

D) J. B. Kripalani
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8. Assertion (A) : llluviation takes place
usually in ‘A’ horizon.

Reasoning (R) : Soluble salts are
removed by percolating soil water from
the ‘A’ horizon.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

9. Consider the following statements and
identify the correct answer using the
codes given below.

1) When dominant economic activity is
considered we arrive at economic

Total Number of Pages : 24

10. Consider the following statements and

11.

identify the correct answer using the

codes given below.

1) In Economic development the
changing man-land ratio will force
people to resort intensive use of
land.

2) Intensive use of land is subjected to
decreasing returns.

3) To bring in successive parts of land
for cultivation will make profitable
cultivation.

(A) 1and2 are correct

(B) 2 and 3 are correct

(C) 1 and 3 are correct

(D) 1 only is correct

Match List — | with List — Il and identify
the correct answer using the codes given
below :

List—1 List—1I
(Stages) (Characters)
[) Stage-l, high 1) High birth rate,
stationary declining death
rate

Il) Stage-ll,early  2) Low birth rate

expanding and low death
region. rate
2) When cultural factors are considered lll) Stage-lll,late 3) High birth rate
. expanding and high death
we get socio cultural region. rate
3) When all factors are taken into IV) Stage-IV,low  4) Declining birth
t t . stationary rate and
account we get a compage region. declining death
A) 1and2 t rate
(A) 1 and 2 are correc Codes :
(B) 2 and 3 are correct ' Il il v
(A) 1 2 4 3
(C) 1,2 and 3 are correct (B) 3 1 4 2
. (C) 2 1 3 4
(D) 1 only is correct (D) 4 5 1 3
K-0814 @ Paper I
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12. Match List — | with List — Il and identify
the correct answer using the codes given

below.
List -1 List-1I
(Author) (Concept)
l) K. Zipf 1) Agricultural

land use

I1) M. Jafferson 2) Rank size rule

) W. J. Reilly 3) Primate city
IV) J.H.Von Thunen 4) Law of retail
gravitation
Codes :
I ] [} v
(A) 2 3 4 1
(B) 1 4 2 3
(C) 2 3 1 4
(D) 4 1 2 3

13. Consider the following statements and
identify the correct answer using the
codes given below.

1) Site and situation does not help in
explaining the growth and decline of
a settlement.

2) Site refers to the actual piece of
ground on which the settlement is built.

3) Situation refers to the location in
relation to the surrounding areas.

A
B
C

D) 2 only is correct

1 and 2 are correct
2 and 3 are correct

(A)
(B)
(C) 1 and 3 are correct
(D)

Total Number of Pages : 24

14. The difference between the natural

birth rate and death rate is called
(A) Natural growth of population
(B) Migratory growth of population
(C) Positive growth of population

(D) Negative growth of population

15. Consider the following statements and
identify the correct answer using the

codes given below :

1) The river load consists suspended

and dissolved particles.

2) Drumlins are found in desert

landscapes.

3) ‘S’ waves pass through the solid,

liquid and gaseous materials.

4) ‘Thawlweg’ represents the

longitudinal profile of a river.
(A) 2and 1 are correct
(B) 2 and 3 are correct
(C) 1 and 4 are correct

(D) 4 and 3 are correct
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16. Consider the following statements and
identify the correct answer using the
codes given below :

1) Among the seismic waves, ‘P’ waves
are recorded first.

2) Time difference between the arrival
of ‘P’ and ‘S’ waves help to locate
epicentre.

3) ‘P’ waves travel only through solid.
A) Only 1 is correct

B
C
D

1 and 2 are correct

(A)
(B)
(C) 1 and 3 are correct
(D)

2 and 3 are correct

17. Match List — | with List — Il and identify
the correct answer using the codes given

below :
List—1 List—1I
(Terms) (Processes)
[) Solifluction 1) Glacier

[l) Subterranean
stream

2) Underground
water

llI) Crag and talil 3) Weathering

Total Number of Pages : 24
18. The demographic transition model was
developed to explain the population

history of

(A) The world

(B) Western Europe
(C) Asia

(D) United States of America

19. All places with a municipality,
corporation, cantonment or notified

town area committee are known as
(A) Census towns
(B) Statutory towns
(C) Urban agglomerations

(D) Metropolitan areas

20. Under German School of Geography

IV) Tombolo 4) Mass wasting right sequence of scholars of their
5) Sea wave age is

Codes : (A) Hettner — Humboldt — Ratzel

I | i Iv
(B) Humboldt — Ratzel — Hettner

(A) 3 1 5 4
(B) 1 4 2 3 (C) Ratzel — Humboldt — Hettner

(C) 4 2 1 5
(D) 5 3 4 y (D) Humboldt — Hettner — Ratzel
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21. Famous Arab scholar who had also
contributed to the regional geography,
called modern Syria as

A) Chaldaenia

)

B) Carthage

C) Cyrenaica
)

(
(
(
(D) Al-Sham

22. Avristotle has written about two cities
destroyed by an earthquake and they
are

(A) Syene and Helice

(B) Alexandria and Syene
(C) Syene and Bura
(D)

D) Helice and Bura

23. Consider the following statements and
identify the correct answer using the
codes given :

1) In England about 2% of the
population is engaged in agriculture.

2) In India about 60% of the population
is engaged in agriculture.

3) In U.S.A. about 40% of the
population is engaged in
agriculture.

A
B
C
D) Only 3 is correct

1 and 2 are correct
1 and 3 are correct

(A)
(B)
(C) 2 and 3 are correct
(D)

Total Number of Pages : 24

24. Consider the following statements and
identify the correct answer using the
codes given :

1) Russia has huge unutilized
coniferous forests.

2) Equatorial forests have valuable
trees like Mahogany, Ebony, Palm
and Iron woods etc.

3) Equatorial forests are accessible for

commercial extensive utilization.
A) 1 and 3 are correct
B

C

1 and 2 are correct

(A)
(B)
(C) 2 and 3 are correct
(D) Only 3is correct

25. Oil town Baku is located to the coastal
side of

(A) Southwest Caspian sea

(B) Northwest Caspian sea

(C) Northeast Caspian sea

(D)

D) Southeast Caspian sea

26. Which of the following port exports one
of the highest quantities of coffee in the
world ?

A) Vancouver

B) Sydney

C)

D)

Sao Paulo

(
(
(
(

New York

K-0814

Paper Il




27. OoUD° TEyEI° ST B3 BINT O3E TR0

S0 TSI, 2T 9

28. STF - NWFBOODTYT FOTZYE Toea),

29.

03RR)TOT3

A) B3npredxs® msa%a

B QT%@S%W msa%a

C) 3000 Fpemedoees® msa%a

(
(
(
(D) B =) S0 Ioeay,

)
)
)
)

BIND TEPTNII), TOMER 08 B8 3o,

#o%e@iidmfs% NVTO3REN FOCINT

PFTZT), MOTOGR:

1 ) &ogﬂ%%eae 3oz300300NT eﬁoegscﬁef;0 ,
PRFEIFN TIRTHI> WNETT,0E
ROR BRENLO FTOCITOTR).

2) 3RO LEOCIONTY ARecT

RIDOMY) YVIT &a30e050 93053%& ROR

TREO3D.

3) ededon” RWOROHOD LR
TIROTIRELTD T’ umoﬁ§
RT0030TDCTTCARBD.

13082 7o

30.

31.

32.

Total Number of Pages : 24

@wwa TROOT, TROTVETIT TN
5@53 @2‘35@ TROT d@ﬁﬁeﬁ &fpud
é’eséodam ésa FINSRNTS, Qm;’g)da
@omd&d ROTOER

A) - umﬁ—momﬂdes
B
C

D

BT —mommdeé— zjz;%ese

(A)
(B)
(C) wpomEes- 3 8er - wimon
(D) woa-¥ner-wmwongsed

CXRTREXT FoCIF SRR Be0T, BTHEBNTY,
5 00 WRET 963,08 03RTew3

A
B) &2
C

D

(A) 22
(B)
(C) oonesFs e*
(D) R R,

RewB (A) : 030DT IR0 LRQICD
23R 30 BomEr BRoOTRYTOT,
ORBBR 303003 03NV SRS,
RP3, BRENDTAS, |

50089 (R) : Seemnsh 3083 w9030
ORI T 0B BRTFONED.

WD
R

(A) (A) 32 (R) 50 32
(R) 7%, (A) B0030G 20

(B) (A) 333 (R) R0, 5T3(R) 25
(A) 1 TOCINT 2T Q.

(C) (A) R0, =TI (R) 3,
(D) (A) 3%, =33 (R) 50

(12)

K-0814




27. Rotterdam is at the mouth of the river
(A) Donube
(B) Volga
(C) Rhone
(D) Rhine

28. A soil which is not fertile and belongs to
hot and wet climate is

(A) Chernozem soils
(B) Laterite soils
(C) Brown podzol soils

(D) Yellow and Red soils

29. Consider the following statements and
identify the correct answer from the
codes given

1) Inthe end of last Pleistocene Ice Age,
Land bridges helped ancient human
migrations across the world.

2) Negroids migrated to north America
during the last ice age.

3) Behring strait land bridge helped
migration of Mongoloids.

(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2and 3 are correct

(D) Only 3is correct

Total Number of Pages : 24

30. Identify the correct sequence of a
developed, developing and a least
developed nation in the world ?

A) Brazil — Japan — Bangladesh

(A)

(B) Japan — Bangladesh — Brazil
(C) Bangladesh — Brazil — Japan
(D)

D) Japan — Brazil — Bangladesh

31. Name the scholar who has studied the
‘functional core areas’ of Europe.

A) Bull

B) Whittlesey

C)

D)

(
(
(C) Robert Mill
(

Jean Brunhes

32. Assertion (A) : Conduction is important
only in the lower layers of the
atmosphere, where air is in direct
contact with earth’s surface.

Reason (R) : Metals and air are poor
conductors of heat.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true
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33. Assertion (A) : Precipitation in the
form of hard rounded pellets is known

as hail.

Reason (R) : Hail stones reveal
several concentric layers of ice one

over the other.

(A) Both (A) and (R) are true and (R)

is the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is

not the correct explanation for (A)
(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

34. Which of the following sequences

represents correctly ?

(A) Dew point, condensation,

precipitation, unsaturated air

(B) Condensation, unsaturated air,
precipitation, dew point
(C) Unsaturated air, dew point,

condensation, precipitation

(D) Dew point, condensation,

unsaturated air, precipitation

Total Number of Pages : 24

35. In a weather map anticyclone is

represented by

(A) Circular isobars with high

pressure in the centre

(B) Circular or oval isobars with low

pressure in the centre

(C) V shaped isobars where the inner
most isobar indicates the lowest

pressure

(D) V shaped isobars where the inner
most isobars indicates high

pressure

36. The atmospheric layer which reflects

radio waves is known as
(A) lonosphere

(B) Exosphere

(C) Stratosphere

(D) Troposphere

37. Ozone layer is a part of
(A) Stratosphere
(B) Troposphere
(C) Exosphere

(D) Mesosphere
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38. Which of the following is an example

for large scale maps ?
(A) Atlas maps
(B) Cadastral maps
(C) Wall maps
(D) Topographic maps
39. Which of the following represents a
compact method of storing raster data ?
(A) Buffer
(B) Circuits
(C) Attributes
(D) Block codes
40. Which of the following is used for
DEM ?
(A) Spot heights
(B) Bench marks
(C) TIN

(D) Profiles

41.

42.

Total Number of Pages : 24

Assertion (A) : DDT has been banned
as an insecticide due to environmental
hazard.

Reasoning (R) : Chlorinated
hydrocarbons are broad spectrum
poisons with high mobility and stability.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false
(D) (A)is false but (R) is true

Consider the following statements of
topographic maps and select the correct
answer using codes given below.

1) It represents only a very small area of
the earth surface

2) It depicts natural features such as
relief, river, vegetation etc.

3) It depicts man made features such
as villages, towns, roads, railways
canals etc.

4) It denotes the geological features
beneath the earth.

A) 1,2,3and 4 are correct

B

C

D

1, 3and 4 are correct

(A)
(B)
(C) 1,2 and 3 are correct
(D)

3 and 4 are correct
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43. Assertion (A) : Sugar industries are
concentrated more in U.P.
Maharashtra, Tamil Nadu and Andhra

Pradesh.

Reasoning (R) : Sugar industry is a

market-oriented industry.
Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation for (A)
(B) Both (A) and (R) are true but (R) is

not the correct explanation for (A)
(C) (A)istrue but (R) is false

(D) (A)is false but (R) is true

44. |dentify the correct hierarchical
sequence of states as per their total

population in 2011.

(A) Uttar Pradesh, West Bengal,

Maharashtra, Bihar

(B) Maharashtra, Uttar Pradesh, West

Total Number of Pages : 24

45. Consider the following statements and
identify the correct answer using the
codes given below :

1) Volcanic eruption resulted in the
formation of basalt in Deccan

2) The basalt areas in Deccan are also
called Deccan Trap.

3) ltis concentrated more on the
northeastern parts of Deccan.

Codes :
(A) Only 1 is correct
(B) Only 3is correct
(C) 1 and 2 are correct
(D)

D) 2 and 3 are correct

46. Match List-I with List-Il and identify the
correct answer using the codes given

below :
List-l List-ll
(Areas) (Climatic type
(Trewartha) G.T.)
[) Western 1) Aw
Rajasthan
Il) Western Ghats 2) BS
[Il) Deccan Plateau  3) Bwh

IV) Interior Karnataka 4) Am

Bengal, Bihar
Codes :
(C) West Bengal, Bihar, Uttar I | i v
Pradesh, Maharashtra (A) 2 3 4 1
(B) 3 4 1 2
(D) Uttar Pradesh, Maharashtra,
(C) 4 3 2
Bihar, West Bengal
(D) 1 2 4 3
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47. ldentify the tributary of Ganges which is
different from the other three.

(A) Gandak (B) Gomti
(C) Kosi (D) Son

48. The term Kumaon Himalayas refer to the
section between the rivers.

(A) Sutlej and Kali

(B) Jhelum and Sutlej
(C) Jhelum and Ravi
(D)

D) Kali and Teesta

49. The Indian Railway is divided into
(A) 14 Zones

Total Number of Pages : 24
50. Consider the following statements and
identify the correct answer using the

codes given below :

1) Tides refer to alternate rise and fall
of sea level mainly due to the

gravitational pull of moon and sun.

2) In the open ocean, the amplitude of

tide is low.

3) Inthe narrow estuaries, the

amplitude of tide is very low.
(A) 1 and 2 are correct

(B) 1 and 3 are correct

(B) 15 Zones
(C) 16 Z (C) 2 and 3 are correct
ones
(D) 17 Zones (D) Only 1 is correct.
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